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1.  Recursive Functions


      � EMBED Equation.3  ���(14) = � EMBED Equation.3  ���(12) − 1 = 9 – 1 = 8	


      � EMBED Equation.3  ���(12) = � EMBED Equation.3  ���(10)  – 1 =  10 – 1 = 9		


      � EMBED Equation.3  ���(10)  =� EMBED Equation.3  ���(8)  − 1 = 11 – 1 = 10	


       f  (8)  =  f  (7)  + 4 = 7 + 4 = 11


       f  (7)  =  f (6) + 4 = 3 + 4 = 7


     � EMBED Equation.3  ���(6)  = 6 – 3 = 3        Now substitute backwards          
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3.  Computer Number Systems


    158 + B1C16 – 1001102  =   13 + 2844 – 38 =  2819 =  B0316


    AB816 + 1278 + 10002  =  2744  + 87 + 8 =   2839  =  B1716
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Recursive Functions


� EMBED Equation.3  ���(10) = � EMBED Equation.3  ���(7) – 1  =  8 – 1 = 7       So  � EMBED Equation.3  ���


� EMBED Equation.3  ���(7) = � EMBED Equation.3  ���(8) + 2 =  6 + 2 = 8   	= � EMBED Equation.3  ���                       


� EMBED Equation.3  ���(8) = � EMBED Equation.3  ���(5) – 1  = 7 – 1 = 6		= � EMBED Equation.3  ���


� EMBED Equation.3  ���(5) = 5 + 2 = 7              		=  6           


Now substitute backwards.





     	





3.  B1716  or  B17


           








4.   A5416 or A54


      





4.  Computer Number Systems


	  					  101001001111


     A4716 = 101001000111		  101001010000


     Start counting:	   101001001011	  101001010001


     101001001000	   101001001100	  101001010010


     101001001001	   101001001101	  101001010011


     101001001010	   101001001110	  101001010100 = A5416
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What Does This Program Do?


	The table contains the values of a, b, c, d and e after each line.


a�
b�
c�
d�
e�
�
48�
12�
0�
-2�
3�
�
4�
12�
0�
-2�
3�
�
4�
3�
0�
-2�
3�
�
4�
3�
0�
4�
3�
�
1�
3�
0�
4�
3�
�
1�
3�
0�
2�
3�
�
          So   a*(b+c)/e-b^e-c/(d+1)=1*(3+0)/3-3^3-0/(2+1)=1−27=-26
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